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1. A% 7188 %
(2006. 12. 31 &)
2 BEE oo 2005 2006 27 | W)
= 2 QA A 1,463 1,476 13 0.89
HETAU Q1 HB) 23 1,458 1,472 14 0.96
= F < FQ Bl 1,444 1,461 17 1.18
l‘; P TA(C/A) % 98.8 99.0 0.2 0.2
o | BT | % 99.0 993 03 03
A& F | g 1,350 1,350 _ ]
(FHE) - (90) (90)

A A F Hm/d | 193,740 187,862 A5878 | A3.03
19FFAAE | HAp/d 531 515 A16 A3.01
1A A | HAp/d 589 587 A A0.34

AR F Hmyd | 156,067 159,434 3,367 2.16

1 5o &F Zdmy/ < 428 437 9 2.10
= ST /) 68 352 A6 N435
RSN v e 346 INTS 442
T AILETS a9 su 38 A16 £4.88
T T ' % 80.6 84.9 43 5.33
R S A 120,857 121,452 595 0.49
. F Al km 4,324 4,240 N84 N1.94
TR 19 19 - -
U L T o km - - - -
A ow 5 B km 2,094 2,146 52 2.48
3 5 T # km 2,211 2,075 136 26.15
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13 A 176482 172810 611.09 598 4 97.92 2.30
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. =:] %—] =W 3 ha B 0
3. }‘] E. = o = jé] ﬁ--g- A\ Y %
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ol A A 412 785 994 761 - - -
3 F A 389 852 940 551 - 526 -
o A A 371 823 871 579 - 177
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